Volume of Solids (& significant figures)
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   The globe has a diameter of 30 cm. 


   Calculate its volume correct to 3 significant figures.
2.
An aqualung is a cylinder of length 70 cm and radius 6 cm.


Calculate its volume to 2 significant figures.
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3.
A farmer constructs a water trough in the shape 

of a prism with a triangular end.


Calculate the volume of water it will hold in litres.  

(1m3 holds 1000 litres)


4.
A conical firework has a base radius of 2.5 cm and a height of 8.5 cm.


Calculate its volume to 3 significant figures.

5.
Kat’s Krackers are marketed in a box which is a 

triangular prism as shown.  


Calculate the volume of the box. 
6.     The end of the wooden mouldings used to make a photograph frame is in the   shape of a quarter–circle.

If a total length of 70 cm of mouldings is required for a frame, find the volume of wood used.
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